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1) Derivations

1 5 . S
a) (1opts) Starting with the definition of linear Kinetic energy ( K= Emv ), show that rotational kinetic

1 &
energy of a rigid body is K:?Twz where I:f r*dm .

b) (10ps) Starting with the definition of angular momentum ( L=m7 X V1), show that the angular momentum
of arigid body is L=/« where I:f ridm .
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2) Multiple Choice, 4 points each.

2.1) Circular disks A and B have the same mass and thickness but the density of disk A is greater than the
density of disk B. Which has the greater moment of inertia? You must explain your reasoning for
full credit.
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2.2) Bar A and Bar B have the same mass, but Bar B is shorter than Bar A. Which has a larger moment of
inertia? Explain your reasoning for full credit.
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2.3) Two wheels initially at rest roll the same distance d down an inclined plane without slipping. Wheel B
has twice the radius but the same mass as wheel A. All the mass is concentrated at their rims (they are
thin hoops). Which wheel is going faster at the bottom of the ramp?

a) Wheel A

b) Wheel B
¢) Their speeds are the same. |

d) We need more information to tell.
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2.4 Two wheels with fixed axles each have a mass of 1.0 kg. All of the mass is concentrated at the rim so
that I = mR? for each. What does F, have to be for both wheels to have the same angular acceleration?
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2.5 A boy and a girl are riding on a merry-go-round that is turning. The boy is twice as far from the merry-
go-round's center as the girl. The boy and the girl have the same mass. Which statement is true about
the boy's moment of inertia with respect to the axis of rotation.

a) It is four times the girl's]
¢) It is the same for both.
d) The boy has greater moment of inertia but it is impossible to say how much more than the girl's it is.
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3. The picture below shows a modified atwood machine composed of two pulleys of different radii that have
been glued together so that their angular velocities will be the same. Two blocks of equal mass are
attached to the system by ropes. One rope is wound around the small pulley and the other rope is wound
around the large pulley. The mass of the pulley is the same as the mass of the two blocks and/Rg =R,

e

1 2
Assume that the moment of inertia of the pulley is /=5 MKE,

a) If the masses are initially at rest, which way will the pulley rotate, clockwise or counter clockwise?
b) Using Work/Energy techniques, find an expression for the angular velocity of the pulleys after the
mass attached to the large pulley has moved a distance d.
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4. The picture below represents the side view of a yo-yo. The inner dashed circle represents the axle that the

string is wound around. The top of the string is held stationary and the yo-yo is allowed to fall,
unwinding the string as it descends.

. T
The moment of inertia of the yo-yo is: 1.,~ 3 MR;

Use Torque/Kinematics to answer the following question.

If the yo-yo starts from rest, what is its angular velocity after a length of string, d, is unwound?
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4) Two skaters, each with a mass of 50 kg, approach each other along parallel paths separated by 3.0 m.
They have equal and opposite velocities of 1.4 m/s. The first skater is holding one end of a long pole
with negligible mass. As the skaters pass, the second skater grabs the other end of the pole. Assume that
the ice is completely frictionless.

a) What is the moment of inertia about the center of mass of the resulting skater-pole system?
b) What is the resulting angular velocity of the skater-pole system?

mz= 50 /%q:
2/ = f,‘r’w/j
A= 3.0m

Q) 6 ._———-—f)---———_; 7 - Z mﬁ }f\‘.?_

L
r_
~
(l
[\_
h

‘f
TA@ fak&{'f’k,ﬁ i»/:f'/ rof{ate «’;fé)() [/!'f tle cent e

F mass. But, prior €O greboig tle ple,
Tﬁ@y are hot o //f/ éoaﬂ'/

P xmY v hxmy = Lo

Contrn M@r/

’



C

A{ tle instant e pole ﬁ”’géb;”/, 1t fooks [/ke ¢l

e 7 7& };j\’( ;f anc
2 ® f*—i“”:@ _}7; Y "—V: g,jt/@ the
FVJ: Same 5%}4 KFor E
-~ L 7,
g &) . = Both owe out of cbe
7 ) 3 aq ¢
7 S
So s )
mnv, + MLY, =Tc | =, =+
, v U=
~mdV + Ymd v = T w
mel v
And p/o} [ 1 Lo /OMAL‘ a
h \MX y /ﬁ :,W,_:_J;V
L)= ——— —=Dl4) = & |
i ¥ 2\ 7

(v 350 = 07 %




